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Name

Score

1) George gets two saplings from a nursery. He paid $19 for the apple and 

$14 for a lemon sapling. How many dollars in all did he spend to buy the 

saplings?

2) Rhone purchased 10 pencils for $20. He later returned one pencil and 

got a candy for $2. How much did he spend on the pencils?

3) Kays uncle gave him $9 on the Christmas eve. He spent $3 to buy a gift 

for his sister. How much money does Kay have now?

4) Caden paid $70 for a car wash and $22 to wax polish a few parts. What is 

the total amount spent by Caden to clean the car?

Money - Word Problems

Currency of India is

Indian Rupee / INR
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1) George gets two saplings from a nursery. He paid $19 for the apple and 

$14 for a lemon sapling. How many dollars in all did he spend to buy the 

saplings?

$33

2) Rhone purchased 10 pencils for $20. He later returned one pencil and 

got a candy for $2. How much did he spend on the pencils?

$18

3) Kays uncle gave him $9 on the Christmas eve. He spent $3 to buy a gift 

for his sister. How much money does Kay have now?

$6

4) Caden paid $70 for a car wash and $22 to wax polish a few parts. What is 

the total amount spent by Caden to clean the car?

$92

Money - Word Problems

Currency of India is

Indian Rupee / INR


